# SOME REMARKS ON PARAMEDIAL SEMIGROUPS 

Petar V. Protić


#### Abstract

Semigroups satisfying some type of generalized commutativity were considered in quite a number of papers. S. Lajos, A. Nagy and M. Yamada dealed with externally commutative semigroups. N. Stevanović and P. V. Protić in [Structure of weakly externally commutative semigroups, Algebra Colloq. 13:3 (2006) 441-446], introduced the notion of weakly externally commutative semigroup and gave a structural description for some subclasses of this class of semigroups. In this paper we consider a class which is a generalization of the class of externally commutative semigroups.


## 1. Introduction

A semigroup $S$ in which the following holds

$$
(\forall x, y, z \in S) \quad x y z=z y x
$$

is an externally commutative semigroup [4]. The class of externally commutative semigroups appears as a natural generalization of the class of commutative semigroups.

Now we are going to introduce the concept of paramedial semigroups as a generalization of externally commutative semigroups.

Definition 1. A semigroup $S$ is a paramedial semigroup if the paramedial law

$$
(\forall a, b, c, d \in S) \quad a b c d=d b c a
$$

holds in $S$.
If $S$ is an externally commutative semigroup, then $a b c d=d b c a$ for all $a, b, c, d \in$ $S$, thus $S$ is a paramedial semigroup. Hence, the class of externally commutative semigroups is a subclass of the class of paramedial semigroups.

[^0]Let $S$ be a paramedial semigroup, $a, c \in S$ and $b \in S^{2}$; then $a b c=c b a$. It follows by above that if $S$ is a paramedial semigroup, then $S^{2}$ is an externally commutative subsemigroup of $S$.

A semigroup $S$ is a universal (global idempotent) semigroup if it satisfies $S^{2}=S$. Therefore a universal paramedial semigroup $S$ is an externally commutative semigroup. Also, by [8, Proposition 1.1], an universal externally commutative semigroup is commutative. Hence, each universal paramedial semigroup is commutative.

The concept of weakly externally commutative semigroup was introduce in [7].
Definition 2. [7] A semigroup $S$ in which the following holds

$$
(\exists a \in S)(\forall x, y \in S) \quad x a y=y a x
$$

is a weakly externally commutative semigroup.
It is clear from the definition that the class of paramedial semigroups is included in the class of weakly externally commutative semigroups.

## 2. Some general properties of paramedial semigroups

Lemma 1. Let $S$ be a simple paramedial semigroup. Then $E(S) \neq \emptyset$.
Proof. Since $S$ is a simple semigroup, it follows that $S=S a S$ for all $a \in S$. Now, for $x \in S$, from $x^{2} \in S x^{4} S$ it follows that $x^{2}=u x^{4} v$ for some $u, v \in S$. Consequently,

$$
\begin{aligned}
\left(u x^{2} v\right)^{2} & =u x^{2} v u x^{2} v=u x x v u x^{2} v=u u x v x x x v \\
& =u u x x x x v v=u\left(u x^{4} v\right) v=u x^{2} v
\end{aligned}
$$

Hence, $u x^{2} v \in E(S)$.
If $S$ is a semigroup, then $C(S)=\{a \in S \mid(\forall x \in S) x a=a x\}$ is the well known center of $S$.

Lemma 2. Let $S$ be a paramedial semigroup. If $E(S) \neq \emptyset$ then $E(S)$ is a semilattice and $E(S) \subseteq C(S)$.

Proof. Let $e, f \in E(S)$ be arbitrary elements. Then $e f=e e e f=f e e e=f e$ and so

$$
(e f)^{2}=e f e f=e e f f=e f
$$

Consequently, $E(S)$ is a commutative subsemigroup of $S$.
Let $e \in E(S)$ and $x \in S$ be arbitrary elements, then $e x=e e e x=x e e e=x e$, hence $E(S) \subseteq C(S)$.

Lemma 3. Let $S$ be a paramedial semigroup. Then $S^{3}$ is a commutative semigroup.

Proof. Let $a, b \in S^{3}$. Then there exist elements $x, y, z, u, v, w \in S$ such that $a=x y z, b=u v w$. Now it follows that

$$
a b=x y z u v w=u v y z x w=u y z x v w=u v z x y w=u v w x y z=b a
$$

Lemma 4. Let $S$ be a paramedial semigroup and $x, y \in S$ be its arbitrary elements. Then $(x y)^{2}=y^{2} x^{2}$ and for $n \in N$ and $n \geq 3$ it follows that

$$
\begin{equation*}
(x y)^{n}=x^{n} y^{n}=y^{n} x^{n}=(y x)^{n} . \tag{1}
\end{equation*}
$$

Proof. Let $x, y \in S$. Then

$$
(x y)^{2}=x y x y=y y x x=y^{2} x^{2} .
$$

We are going to prove the second part of lemma by induction. For $n=3$ it follows

$$
(x y)^{3}=x y x y x y=x y(x y x y)=x y y y x x=y y y x x x=y^{3} x^{3} .
$$

By Lemma 3, it follows that $x^{3} y^{3}=y^{3} x^{3}$. Hence, $(x y)^{3}=x^{3} y^{3}=y^{3} x^{3}=(y x)^{3}$.
Let $(x y)^{n}=x^{n} y^{n}=y^{n} x^{n}=(y x)^{n}$. Now we get

$$
(x y)^{n+1}=(x y)^{n} x y=x^{n} y^{n} x y=y y^{n} x x^{n}=y^{n+1} x^{n+1}
$$

Since $S^{n}, n \geq 3$, is a commutative semigroup, it follows that $x^{n+1} y^{n+1}=y^{n+1} x^{n+1}$, which gives $(x y)^{n+1}=x^{n+1} y^{n+1}=y^{n+1} x^{n+1}=(y x)^{n+1}$ and the lemma is proved.

By above, if $S$ is a paramedial semigroup, $m, n \in N, x_{1}, x_{2}, \ldots, x_{m} \in S$, then

$$
\left(x_{1} x_{2} \cdots x_{m}\right)^{n}=\left(x_{p(1)} x_{p(2)} \cdots x_{p(m)}\right)^{n}=x_{p(1)}^{n} x_{p(2)}^{n} \cdots x_{p(m)}^{n}
$$

where $\{p(1), p(2), \ldots, p(n)\}$ is a permutation of $\{1,2, \ldots, n\}$.
A semigroup $S$ is a (well known) $E$ - $m$-semigroup if $(x y)^{m}=x^{m} y^{m}, m \geq 2$ holds for some $m \in N$ and for all $x, y \in S$.

By the above lemma, every paramedial semigroup is an $E$ - $m$-semigroup for all $m \geq 3$.

## 3. Semilattice decomposition of paramedial semigroups

Theorem 1. Let $S$ be a paramedial semigroup. Then the relation $\rho$ defined on $S$ by

$$
a \rho b \Longleftrightarrow(\forall x, y \in S)(\exists m, n \in N) x a^{m} y \in x b y S, x b^{n} y \in x a y S
$$

is a semilattice congruence.
Proof. Let $a, x, y \in S$. Since $S$ is a paramedial semigroup, then

$$
x a t y=x a a a a y=x a y a a a \in x a y S
$$

and so $a \rho a$. Clearly, $\rho$ is a symmetric relation. Let $a, b, c \in S$ and

$$
\begin{aligned}
a \rho b & \Longleftrightarrow(\forall x, y \in S)(\exists m, n \in N) x a^{m} y \in x b y S, x b^{n} y \in x a y S, \\
b \rho c & \Longleftrightarrow(\forall x, y \in S)(\exists p, q \in N) x b^{p} y \in x c y S, x c^{q} y \in x b y S .
\end{aligned}
$$

Now

$$
\begin{aligned}
x a^{m(p+1)} y & =x \underbrace{a^{m} \ldots a^{m}}_{p+1} y=x a^{m} y \underbrace{a^{m} \ldots a^{m}}_{p} \subseteq x b y S \underbrace{a^{m} \ldots a^{m}}_{p} \\
& =x a^{m} y S \underbrace{a^{m} \ldots a^{m}}_{p-1} b \subseteq x b y S S \underbrace{a^{m} \ldots a^{m}}_{p-1} b=x a^{m} y S S \underbrace{a^{m} \ldots a^{m}}_{p-2} b^{2} \\
& \subseteq x b y S S S S \underbrace{a^{m} \ldots a^{m}}_{p-2} b^{3}=\ldots=x a^{m} \underbrace{S S \ldots S}_{p} b^{p} \subseteq x b y \underbrace{S S \ldots S}_{p} b^{p} \\
& =x b^{p} y \underbrace{S S \ldots S}_{p} b \subseteq x b^{p} y S \subseteq x c y S .
\end{aligned}
$$

Similarly, $x c^{q(n+1)} \subseteq x a y S$. Hence, $a \rho c$ and so the relation $\rho$ is transitive. It follows that $\rho$ is an equivalence relation.

Let

$$
a \rho b \Longleftrightarrow(\forall x, y \in S)(\exists m, n \in N) x a^{m} y \in x b y S, x b^{n} y \in x a y S
$$

and $c \in S$ be an arbitrary element. Then, by Lemma 4,

$$
\begin{aligned}
x(a c)^{m+3} y & =x a^{m+3} c^{m+3}=x a^{m+3} c^{m+1} c c y=x a^{m+3} y c^{m+3}=x a^{m} a a a y c^{m+3} \\
& =x a^{m} y a^{3} c^{m+3} \in x b y S a^{3} c^{m+2} c=x b c S a^{3} c^{m+2} y=x b c y a^{3} c^{m+2} S \\
& \subseteq x b c y S .
\end{aligned}
$$

Similarly, $x(b c)^{n} y \in x a c y S$. Hence, $a c \rho b c$ and so $\rho$ is a left congruence on $S$. Also,

$$
\begin{aligned}
x(c a)^{n+3} y & =x c^{n+3} a^{n+3} y=x c^{m+1} c c a^{m} a^{3} y=x a^{m} c c^{m+2} a^{3} y \\
& =x a^{m} y c^{m+2} a^{3} c \subseteq x b y S c^{m+2} a^{3} c=x c y S c^{m+2} a^{3} b=x c b S c^{m+2} a^{3} y \\
& =x c b y c^{m+2} a^{3} S \subseteq x c b y S .
\end{aligned}
$$

Similarly, $x(c b)^{n} y \in x c a y S$. Hence, ca $\rho c b$ and so $\rho$ is a right congruence on $S$.
Hence, $\rho$ is a congruence relation on $S$.
Let $a, x, y \in S$ be arbitrary elements. Then

$$
\begin{gathered}
x a^{5} y=x a^{2} \text { aaay }=x a^{2} y a a a \in x a^{2} y S, \\
x\left(a^{2}\right)^{2} y=x a a a a y=x a y a^{3} \in x a y S .
\end{gathered}
$$

Now, $a \rho a^{2}$ and so $\rho$ is a band congruence on $S$.
Let $a, b, x, y \in S$ be arbitrary elements. Then

$$
x(a b)^{3} y=x a b a(b a) b y=x b a b a a b y=x b a y a a b b \in x b a y S .
$$

Similarly, $x(b a)^{3} y \in x a b y S$. Hence, $a b \rho b a$ and it follows that $\rho$ is a semilattice congruence on $S$.

Corollary 1. If $S$ is a paramedial semigroup, then $S$ is a semilattice of Archimedean paramedial subsemigroups on $S$.

Proof. Let $S$ be a paramedial semigroup. Then the relation $\rho$ defined as in the above theorem, is a semilattice congruence. We prove that $\rho$-classes are Archimedean semigroups. Hence, $S=\bigcup_{\alpha \in Y} S_{\alpha}, Y$ is a semilattice and $S_{\alpha}$ are $\rho$-clases. Let $a, b \in S_{\alpha}$. Then

$$
a \rho b \Longleftrightarrow(\forall x, y \in S)(\exists m, n \in N) x a^{m} y \in x b y S, x b^{n} y \in x a y S
$$

For $x=a=y$ it follows that $a^{m+2} \in a b a S \subseteq S b S$. Now $a^{m+2}=u b v$ for some $u, v \in S$. Let $u \in S_{\beta}, v \in S_{\gamma}$. Since $a^{m+2} \in S_{\alpha}$ and $a^{m+2}=u b v \in S_{\beta} S_{\alpha} S_{\gamma} \subseteq S_{\beta \alpha \gamma}$, we have $\alpha=\beta \alpha \gamma$. Also, since $Y$ is a semilattice, we have $\beta \alpha \gamma \beta=\alpha, \gamma \beta \alpha \gamma=\alpha$ and so $u b v u, v u b v \in S_{\alpha}$. Now

$$
a^{3(m+2)}=u b v \cdot u b v \cdot u b v=(u b v u) b(v u b v) \in S_{\alpha} b S_{\alpha} .
$$

Hence, $S_{\alpha}$ is an Archimedean semigroup.

## REFERENCES

[1] S. Bogdanović, M. Ćirić and Ž. Popović, Semilattice decompositions of semigroups, Faculty of Economics, University of Niš (2011).
[2] S. Lajos, Notes on externally commutative semigroups, Pure Math. Appl., (Ser.A) 2 (1991) 67-72.
[3] A. Nagy, Subdirectly irreducible completely symmetrical semigroups, Semigroup Forum 45 (1992) 267-271.
[4] N. Stevanović and P.V. Protić, Structure of weakly externally commutative semigroups, Algebra Colloq. 13:3 (2006) 441-446.
[5] M. Yamada, External commutativity and commutativity in semigroups, Mem. Fac. Sci. Shimane Univ. 26 (1992) 39-42.
(received 26.08.2013; in revised form 03.12.2013; available online 15.12.2013)
University of Niš, Faculty of Civil Engineering, Aleksandra Medvedeva 14, 18000 Niš, Serbia
E-mail: pvprotic@yahoo.com


[^0]:    2010 Mathematics Subject Classification: 20N02
    Keywords and phrases: (Weakly) externally commutative semigroups; congruence; semilattice decomposition.

    Supported by Grant ON 174026 of Ministry of Science through Math. Inst. SANU

